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MATLAB CODE AND RESULT
CODE:

4 MAILAE K201%a

PUBLISH Biali9eq® '|

{IF‘ 9 ﬁ [QJFindFies <@ - msert (5] fr [5] ~ D @ (5] o Seton é}

[l compare » g GoTo » Comment 9 g ]

PLOTS

Mew Open Save Breakpoints Run Run and l% Advance Run and
v v v [Pt v (U Find v indent [z] &g |5 - v Advance Time
FILE NAVIGATE EDIT BREAKPOINTS RUN

<cpEd ¥ C b Users b DC ¥ Desktop b

Fi Editor
|. matlabraphson.m | matlabraphson2im | Assignmentim | flassignment].m | codeforlagrandem | lagrandeinput.m | Jacobim | + |
= commandwindow
#l= clear
= clc
4= format short g
5 - close all
6 — v=0.5
1= for i=1:10;
8- iter(i+l)=i
g — | v{it1)=sqrt ((34.440.02%v(i))* (5004 (log (v (i})*3))/0.3);
10— | Ea(i+l)=abs((v(i+1)-v(i))/v(i+1)]*100;
1) = if Ea(i+l)<=lE-11
12 - break
13 = end
14 - end
15|1= F=[iter' v' Ea']

16~ 2=[iter; v; Ea]|




RESULT:

4\ MATLAB R2018a
HOME PUBLSH BL:G0908@7]

HI::j ﬁ ﬁ EaFindFileS C:I : Insert E fx‘ h D @ L%RunSecﬁDn &?

= Compare GoTo v Comment 9 “en %3
New Open Save ILJ LJ‘)H % &L Breakpoints. Run Run and @Aﬂv&nw Run and

l

- - v =Pt v \ Find = mmtjﬁ - »  Advance Time
FILE NAVIGATE EDIT BREAKPOINTS RUN
< EEA b C» Users ¥ DC » Desktop »
Command Wi ]
v =
0.5
iter =
0 1
iter =
0 1 2
iter =
0 1 2 3
iter =
0 1 2 3 4
iter =
0 1 2 3 4 5
i3




4\ MATLAB R2018a

HOME

':E:' - % [l Find Files L5 msert =1 fx e D L@ =] Run Section &?

|zl compare = i GoTo v Comment 9% ‘& ¥J

New Open Save Breakpoints Run Run and l% Advance Run and
- - ~ [y Print - | Find = Indent = - - Advance Time
FILE NAVIGATE EDIT BREAKFOINTS RUN

<= EHA » C: b Users » DC » Desktop *

a 1 2 3 4 5 6
iter =
Q 1 2 3 4 5 13 T
iter =
[v) 1 2 3 4 5 € T g
iter =
a 1 2 3 4 5 3 7 g a
iter =
a 1 2 3 4 5 [ T 8 ] 10
F =
0 0.5 Q
e 1 236, .4 sg, 757

\ MATLAB R2018a

PLOTS APPS PUBLISH

[grind Files ~ rl E f E |> L@

¢ &=

- . - - || Run Section
=| Compare ~ GoTo » Comment 5% ‘sz #
Mew Open Save = EH e s o Breakpoints. Run Run and I%Aﬂvanoe Run and
- - v (= Prnt > ({Find = - - Advance Time
FILE NAVIGATE EDIT BREAKFOINTS RUN

<FE P EHEH » C: ¢ Users » DC » Desktop »

F =
a 0.5 a
1 239.4 85.781
2 294.8 18.737
3 303.05 2.7883
4 304.29 0.40956
5 304.48 0.060061
& 304.5 0.0088058
T 304.51 0.001291
8 304.51 0.00018927
8 304.51 2.7745e-05
10 304.51 4.0682e-08
=
Columns 1 through 9
1 2 3 4 5 3 7 g
0.5 239.4 294 .8 303.05 304.23 304.48 304.5 304.51 304.51
0 88,791 18.737 2.7883 0.409856 0.060061 0.0088058 0.001291 0.000188927
Columns 10 through 11
9 10
304.51 304.51
f’& 2.7745e-05 4.0682e-08




commandwindow
clear
clc
format short g
close all
v=0.5
for 1i=1:10;
iter (i+1) =1

v (i+1)=sqrt ((34.4+0.02*v (1)) *(500+ (log(v(i))"3))/0.3);
Ea(i+l)=abs ((v(i+1)-v (1)) /v (i+1))*100;
if Ea(i+1)<=1E-11

break
end
end
F=[iter' v' Ea']
A=[iter; v; Ea]

RESULT
V=

0.5
iter =

0 1
iter =

0 1 2
iter =

0 1 2 3
iter =

iter =

iter =

iter =

iter =



iter =
0O 1 2 3 4 5 6 7 8 9
iter =

0 1 2 3 4 5 6 7 8 9 10

F=
0 05 0
1 2394  99.791
2 294.6 18.737
3 303.05 2.7883
4 30429 0.40956
5 304.48 0.060061
6 304.5 0.0088058
7 30451 0.001291
8 30451 0.00018927
9 30451 2.7749e-05
10 304.51 4.0682e-06
A=

Columns 1 through 9

0 1 2 3 4 5 6 7 8
0.5 239.4 2946 303.05 304.29 304.48 304.5 304.51  304.51
0 99.791  18.737 2.7883 0.40956 0.060061 0.0088058 0.001291 0.00018927

Columns 10 through 11

9 10

304.51  304.51
2.7749e-05 4.0682e-06






